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And is there someone who maintains that 15332 nins» 5217 are liable,
but the academy of 779117 taught, etc.

Overview

The X723 (initially) cited the view of 7m1» ' that one who is inadvertently
transgressing a capital crime or a Mp?» crime, and at the same time a monetary
crime, he is liable to pay, since he will not receive corporal punishment (for he was
a 2 W). The X3 asked; how can this be that 122w N °2»1 should be held liable
to pay, when the 7P °27 Xin taught that "3 Mn°» "2°°1 are exempt from paying.
It seems from the s'®773 question that no one argues with the 7°pm °27 Xin. Our
npoIn challenges and clarifies this assumption.

mooin asks:
= (v 3,0y PH7110) 1P9IYIN 2991 1329IN R 9INRN ON)

And if you will say, but X217 stated in 32923277 299 that -
- YDTN Y24 NINN ORI 51599 NNYN 13297 NPM) 2913 NPam NY¥PIN %34 Xan

‘o1 527 Rin disagrees with the ruling of 529, and disagrees with the ruling of
the 3129’; it is evident from that X713 that 29810 (meaning 71271 °27) argue with

the 79211 927 RN, so how does the X713 state here Rin XM, P20 PAW M7 %270 7'10% XK Y
121 7P 027, when we see that there are others who argue with 7P 927 X1n?!

N1B0IN answers:
- PN 231 RINT PRYIPIN 179199 179 1O 29NN 1111 19a¥5T 91299 W

And one can say; regarding other money which was damaged during his

(inadvertent) capital crime, everyone agrees to the w37 of n''Th that he is exempt
from paying that money -

! There is a dispute between *271 and the 1321 in a case where one intended to kill one person and instead killed
another (71 PR 377 7T IR 272 11901). According to "21 the killer must pay the value of the victim to his heirs (see
TIE previous *&n 1"7 '01n footnote # §), and according to the 1127, he is 7in°n 2>°1. However according to the >27 Xin
P11 he is exempt both from 17mn and 7in°n. See ‘Thinking it over’ # 1.

? This can be referring to a case where someone burnt his friend’s grain 332 on naw. In this case all agree that (even
though he is a 1Az Min°n 271, nevertheless) he is Mvd, as the wp*i1 of 1"7n teaches us. The grain is MR PMN.

? The 109 (in 82,79 [MAKR] XIP*) states NP1 QTR 7911 7399w° Anaa 79m). The 770 compare 27X 797 to 7aA2 797; just as
by 172 1191 one has to pay whether it was 3Ww32 or 7°723, or whether it was 115012 or 19072 K7W (in all cases one has
to pay) similarly by n» a7X 7om1 (where we know that if he is put to death there are no monetary payments, for we
say n"29p; this rule applies) whether he was 07X 7197 in a case of AW or 711 or whether he was 11907 or not 302, in
all cases the rule is the same; he does not pay, on account of »"2%p. This is the Xw*p>i3 of n'"7n.
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And they (the 1127 and "27) do not argue with the 11"7n, only regarding what it

states in the "7 that ‘there is no difference between intending and not intending’ -
= 1139199930 NN NIND XIN NHXIND 11901 PN 2 SAUNN NINY 1292591 Y2 VRYUNT

For 1>nn 1°8WY 11007 11 is interpreted to mean (according to s'827 understanding
of the 11"7n) whether he intended to kill the woman, or whether he did not intend

to Kill her, but rather he intended to Kkill his friend, and he killed her accidentally -
- AYND 39713 0D PIY Y924

That in any event he is exempt from paying the value of the woman to her heirs.

The reason we need to interpret 11507 1°XWY 1207 12 in this manner, is because -
=P PA NIV P PITNN NDT NI 925 SanN 191913 1951

For regarding the exemption of paying by anx 1mn, the 1"7n already taught, not

to differentiate between 3x and 751, so we have no choice but to say that 132nn 12
107 1RWY is discussing the case of T DX 37 731 DX 2177 10N, and it is regarding this case only -
= 132919) 229719 NPT 1N

Which the rn"7n disagrees with 529 and the 323" -
= 550 290 133999 11192 29N DT NN XN NT AN NIND 190 2904

For according to 529, by ;77 IR 3771 577 IR 317772 11201, he has to pay money (the
value of the deceased to the heirs) and according to the 3129, he is liable for the

death penalty -
- "15) AN NV AYPIN 22T NINDY

However according to the 1''7n he is exempt both from execution and payment.

nvoIN asks:
= 13990N (2,79 ow) PPININ YWIIAT PNYY 199299 NYH YaN

However, the >''1 has a difficulty, for in the beginning of °pPimi7 P75, the X7

states -
= 9919 1Y YT INNPY TN NOPIN 22T NINT 199 INT INNDY XN

‘This is understood according to the one who maintains the wp°n of n''Tn,
however, according to the one who does not maintain it, etc.’

* X2 there (in 2,bY 17710) explained the duplicity of 7°Tn% a3w %2 and 11507 WPRWS 11507 11 (see footnote # 3). AW
71 is referring to damaging JnX 17mn (see footnote # 2) where he is Mo from paying. However, RS 1501 172
11007 is a different case completely, as NM20IN continues to explain.

> When he intended to kill the woman, it is obvious that there is no monetary payment; he is 7in"» 2°r; the same is by
TWRT DR 3771 17720 DR 007 11903, there is no payment. This is not 7R 177, it is the value of the deceased.

% See footnote # 2.

"t is only in this case (of 77 DX 377 77 DR M2 112N) that 13271 °27 argue with 170 (they do not accept his 7wa7 of
73300 1RW? 11507 1°2), however regarding InR 1wan, all agree that 133w NI 2> are exempt from payment.
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= 2097 NI NIINT YnWN
It seems from that X723 that there is a Xin who argues with the n"1n; so how can the
X713 state here, ‘is there anyone who disagrees with 1"7n° —

n190IN answers:
= 112752 NNINN YNNT NIDITTN NIN 229 139DT PNNY 13929 99IN)

And the >''1 says that the Xi1n who argues on the 11"7n is 821972 1''3 who brought

a 8n»12 with him -
= (w1 N30 NP N22) YNNI DYIIN NIV NIV P92 13999NRTD

As the X771 states in [T2am IYIN AR W POD -
- 5591 9073 YWY NYNA POR YV 59 5Y AN ATY AT 19NN 29 DIWIN 2V

That regarding two people who intended to kill each other, even though the

woman was killed, they are punished by paying the value of the fetus -
- MY IV PAT NYIPID 1Y 1Y NIYN

It is obvious that this Xn>>72 which X 27 cited, does not agree with the Xwps7

between 7512 AW, which the n"7n teaches. And as to the question -
=999 9INRT INND NIIN 9 9INPT N

And how does the X913 state, ‘is there anyone, etc. who disagrees with n"7n (even

though the Xn»72 of X " disagrees); that is not a question -
- AN NIV NN 239 JY NN NNV NPNY 9P2Y NXPIN 227 NanT 0IVN 199N

This is because the 11''7n is the main Xn>12, for 7°pin would teach the nin»=2 of

his father, 17''1 -
- 11799350 RNV 153 1PPY 19 (3,70 mna») “INNAY YY AN P9 9102 N1

As is evident in the end of Yn»2° %y Xan »=o, and the nIN>»2 of X1 " are the
main N1N>°72, and we cite them as a refutation against anyone who rules otherwise.

mooIn offers an alternate explanation of the question, 121 AW MM *21 7"1% ROK "M
= PPN 22T NI NYY 7599 RP 25D DIVNT NN DNIAN )2 PYNY 1)%299)

And it appears to the X''aw= that it is on account of the following that X2

challenges 73117 "2 from the 11'' 70, even though other °Xin disagree with the "7, and that is —
= 12909 MNM ANNT n9%0 95171 12 1901 NOYA (3,25 ow9) 1212301 2P 1IN 2297 DIVN

Because °''1 established our 7mwn in a case where they did not warn him (and
therefore he pays 01 and does not receive mpo»n), and in the X%, the mwn

¥ However, if they would have intended to kill the woman (7°13) they would be exempt from paying m7%1 *»7 on
account of n"2%p, but since the killed her accidentally (3x1w32) there is no n"2%p and they are 2n.

° The story there indicates that 7°p11 (and his twin 77177°) were the children of &> .

R 1mP%. The nx°2 *Mo°R and N1y mentioned in the first 71wn (on X,03) are not 7"°2 N1 23>0, only N1 2N
and/or mp>». The 7X°2 >N0°X in the X9°0 are 7"°2 NIn°» °2>n, therefore they are Mo from 0Ip on account of »"27p.
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teaches that nin 31 are exempt from paying o1p -
- 121"11\99 PINY N 22N 1920 PHNINN 111: oN

Therefore, according to °"9, our mw? maintains that P nwnsn Sa%»n are
exempt from payment like the n"7n —

Moo responds to an anticipated difficulty:13
- 119391 NP 39503 NYDY 12 19NNYA 3999 NSO INT

For if the N2 is discussing a case where they were warned, let the mwn

distinguish by npv» 929917 alone between 12 1077 XY (in the K@ where they are 01p 2°n),
and 121707 (in the X9°0 where they are 7195 from 01p) -

MPOIN responds to an anticipated a difficulty: "
= PNINNN TIDNIY K81 MM

And X271 could have challenged >"2 from our 71w -
- TR0 PNINNNY NYPIN Y27 XaN) 199 7599 9979 DTN NIN 799909 181 NYT NN

However, the challenge would need to be presented from an inference, so

therefore X217 challenged " from the 11''7n, but he was supported from our ;7w -
- N9 19192 13299 5291 NPT MY 13981 VAt saY

So, according to this, we can say that the n"7n disagrees with 71291 %29

regarding everything, not as nmoo1n answered previously that they argue only regarding
7T DR AT AT DR A0 11201 —

Moo offers an alternate view who is the Xin that argues with n"7n:'®

""" According to >"-, the Xw™ is discussing a case of 12 1n71 XY, therefore since there is no NP, they pay oIp.
Presumably since the X" is discussing 12 1077 R?, the X9°0 is also by 12 17071 X7 (meaning there is no real N 21,
but rather they are treated like 133w min » »2»m). This proves that »"1 agrees with the 11"7n. Therefore X211 challenges
"9 how can he say that 133w nin®» °2°1 are PM2wn1a 21, when *" agrees with the 1"7n.

2 Otherwise, if 331w MmN 21 are not Mo from payment, why in the X9°0 (where they are like Paxw, since 1707 X2
12) are they Mwa?

13 Perhaps the &5°0 is in a case of 12 17071 (and they are wnn 70" 20, not 1"2A1W), not like the Xw™A, so there is no
proof that >"7 agrees with the 11"7n. NN rejects this approach.

' The fact that the Xw™ is by mpon 2> (and n13) and the X9°0 is by 7">2 Mn» *2>n assures us that the entire 71wn is

by 12 107 K.

15 Why does &31 challenge 731 '3 (who presumably maintains PmY2wna 1220 133w mnn *2°1) from the 770 (which is
something that others disagree with) when he can ask on *"1 from the way he interpreted our 712wn (see footnote # 11).

'® The inference needed is that since the X@™1 is by 19071 X, presumably the X9°0 is also by 1071 X2. This requires a
presumption and an inference. Therefore, &27 chose to ask from 11"7n, where it is stated clearly that 731w mnan "2»n
are 1nYPwnn Pws, and we know that *" agrees with the 1"7n as mentioned previously (see footnote # 11)

"7 Now that we know that even though there are others who argue with n"7n, nevertheless X271 challenges "3 from
n"7n [only] because >"1 agrees with 11"7n [footnote # 11], it is not necessary to limit the argument between 11"7n and
the >3 1321 to the case of AT NX XM AT DX 3772 11201 (see footnote # 7), but rather we can say that they even argue
whether 732w Mo 211 are 271 (the view of 13127 °27), or Mo (the 11"7N), because in any event >"1 agrees with 17"7n.

4
TosfosInEnglish.com



"M 1"7 '0IN R,7% MmN 702

- P13 12 1IN 229 YV 132 INYAY) Y297 DNIAN 12 PYNAY 13539 WIN NI
And additionally, says the X''23w= that >''3 the son of 2''2%9, mentioned -
- Pmymin 929 XaNT 199 1591 NI NI (2,15 41 1PP93 100Y
Later in our P92, he is the Xin who disagrees with 17''th —

mooIn offers some clarification regarding the 2’2109 of 110X:
- 2y YON 1990 POR 7909 RY ZArpin 527 XanYT 91 PPN

And it is necessary to say that according to i''7n the P09 of WY JOK 77977° K

vi1v°, the word 170X means actual death (but not 7non 17) -
= AWRY 1999V 13 PON 15793990 21515 PPON BNT NP

And in the e of 7% ION 2Ny, the word 1OX means oK 1°7 (that he will be

executed for his crime), for instance where he intended to kill the woman -
- Bayoin 124 XanY PN AN NV 1Y 119N XY ONT

For if he did not intend to kill her and she died, the killer is exempt from
execution (because it was unintentional), and from payment, according to i''Tn —

An alternate explanation for nox:
=19 199,V 193NN NINX NYNN )IONT RIP IND ND 993 N

Or you may also say that the verse of 1%o8 7°7° oX) is not referring to the woman

(the woman was not killed), but rather to his friend whom he intended to kill -
- AT N XN DT HON NINY PIIMY KIP 299N XY

And (according to this interpretation) the verse is not discussing a case where he

'8 Previously the >"1 stated that it is X2177% X3 3, and the X"2wA indicated that it may be 73277 °21.

' The proof requires an involvement in that X310, which is beyond our scope, and we trust the reader will do his due
diligence to ascertain the proof.

0 The 70 (in 3-23,%5 [D°Wown] Mnw) writes regarding men who caused a pregnant woman to miscarry; 1% °3) 22
W93 THDF) 7Y 110N BXY 30 .0°7993 03] TWRT Y3 1R MW IWRD Wiy Wiy YioN e N9) 10777 ) 777 AWK 10N 0w
w91 non. When there is no 10X, the man has to pay. The word 10X can mean 10X 17, that someone is executed for
this crime, or it can mean w»n NOX that someone died (but not that anyone is to be executed). MooIN is saying that
the word 710X in 22 P105 means wW»» NOR, and the word 1OX in 32 P10 means 71OX 7°7.

1 1f no one (the woman) dies, there is payment (for the fetus); the inference is, but if someone (the woman) does die
(wnn 710R), even if no one will be punished for it (there is no 1OX 7°7), nevertheless the killer will not pay, for he is
(like) a 1> mnen *2»n who is MMwd from paying according to 1"7n. However, 110X 7°7° X?Y cannot mean 0K 17, for
the inference is that if there is no 1OX 17 (no one will be executed), there will be a payment, even if someone died,
but according to 1"7n if there was a death, even if there is no punishment, there is no payment.

2 710X OXY cannot mean W»n 710X (that the woman [merely died], but no one is executed, for the 7105 concludes
wo1 nnn wol nn1, therefore we must say that 77 1OX XY means that it was a death which is punishable by execution
(MoK 17), and that can only be if he intended to kill the woman.

2 He is Mwo because according to n1"7n even AW NIN°K °2%M, are 1MPWNR D,

> 1n the previous explanation the 1ox referred to the woman who was killed (intentionally), or not killed; in this
interpretation the 10X is the friend he was fighting with. See ‘Thinking it over’ # 2 & 3.
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intended to Kkill one (his fellow) and instead killed another (the woman) —

Moo responds to an anticipated difficulty:
= NP YWY 350 AT NN XN NT AN NN 1991 9097 PYNRY 295 P21 251’9‘1\’))11 7992)

And in 29217 P92 where the X 1) asks according to @w''s who exempts from
execution in a case where 7 IR 37T 77 nR 3772 1201, how will he explain the

Vel‘SEES26 of W51 NN wo1 NN 11OK 777> ORY -
- 75pwr991a 9129109 S8 MN

The X713 could have answered as I just explained -
£ AT HNR XN N HN NINIY 129533 INIP 9INT RYIN 2297 NIYUN NON

However, the question was based on X'’ who maintains that those verses are
in a case where ;17 DR 377 77 AR 309 0N

Summary
We can assume that everyone (except for Xim ') agrees with 1"7n regarding 2R

AW NN, or we can assume that various 2°Xin disagree with §"7n, but
nevertheless our 7wn as explained by 717 ' agrees with 1"n. The word 70X, can
refer either to the woman or to his friend; the first NOX means w»»n NOX and the
second, 1OR 7°7.

Thinking it over
1. mdOIN cites the X3 which states that 3312772 >pom1 °27% “pon 1170 and concludes

that 1"70X °XiN 395 X19R.*® The argument between the 7127 and n"n is whether
7T DR AT AT DR 732 11001 is 20 (the 1327), or Mo (the n"n), but both agree that
he is Mo from paying. It is still possible that the 7327 agree with the 1"Tn that aw
is o2, etc. they only say that by 11onn X2 we do not need the wpn because X?
™07 (i.e. 7T DR A0 a7 DR 2772 11501) is 70 21 and therefore PmYPwnn Mwe, but
there is seemingly no proof that they do not utilize the wp>n1 of 713 3w, etc.”

2. In the second interpretation, the 2105 of W51 AN WH1 NN 777 1IOX XY, 1S in a case
where he intended and killed his friend.”® If this is the meaning of the P09, why

2 R,0v.

% The xmx there assumed that he killed the woman whom he did not intend to hurt.
7 mpoin is referring to the 1 X that he killed 112 whom he intended to kill.

% See footnote # 1.

¥ See ywi *10 and D°27X DK, etc.

3 See footnote # 24.
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does the 77N write it, since it is obvious®' that if someone kills 73 he is 277
anm?132

3. What are the relative advantages of the two explanations™ of Tox?

31 See 27,83 Mnw which states 1Y M N WOR 97,
32 See 30,80 MAW N"5W 0°IpT WM, and PRY> 079,
3 See footnote # 24.
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